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153Yz88.92 '/,60,3'/,15,97/'611,14

10/.

203 '/,98,420/.69,9'/,15,97/1611,14
1

254';4108,03 '/,79,4'/,15,97/1611,14
1';4

324 '/,117,53Yz88,9'/,15,9Yz12,74
1 Yz

405127,0(3 '/,98,4'/,15,99/1614,34
2

506152,440/.120,7'I.19,1'/,15,94
2Yz

657177,85Yz139,7'/,19,111/'617,54
3

807Yz190,56152,4'I.19,1o/.19,14
4

1009228,67Yz190,5'/,19,115/1623,88
5

12510254,08Yz215,9'/,22,215/1623,88
6

15011279,49Yz241,3'/,22.2125,48
8

20013 Yz342,9110/.298,5'/,22,21 '/,28,68
10

25016406,414 ';4362,0125,413/1630,212
12

30019482,617431,8125,4.. ·1 ';431,812
14

35021533,418 o/.476,31 '/,28,61 '/,34,912

116

40023 Yz597,021 ';4540,01 '/,28.617/'636,516

Yz 1595,065,014,014,04
o/.

20105,075,014,016,04
1

25115,085,014,016,04
1';4

32140,0100,018,018,04
1Yz

40150,0110,018,018,04
2

50165,0125,018,020,04
2Yz

65185,0145,018,020,04

3

80200,0160,018,022,08 (4)
4

100220,0180,018,024,08
5

125250,0210,018,026,08
6

150285,0240,022,026,08
8

200340,0295,022,026,08
10

250395,0350,022,028,012
12

300445,0400,022,028,012
14

350505,0460,022.030.016
16

400565,0515,026,032,016

1 mm - 0,039 In
1 m

= 39,370 In

.. 3,280 fi1m3H?O

.. 220 galões

- 35,315 fi'= 1000 I1 bar

_105 N/m2

- 14,5 Ibf/in'- 1,02 kqf/em'= 750,062 mm Hq= 10,197 mea= 1 atm1 kqf/em'
= 14,223 Ibf/in'

= 98,066 KN/n'= 10 mca= 735,556 mm Hg= 0,967 atm1 atm
.. 1,033 kgf/em'

-1,013 x 10' N/m'-760 mm Hq.. 10,330 mea= 14,696 Ibl/in'= 105 N/m21 mca

= 73,556 mm Ha

= 0,100 kal/em'= 0,098 bar= 1,422 Ibf/in'- 0,097 atm- 1 mm Hg1 torr

.. 0,010 kgf/em'

- 0,019 Ibf/em'.. 0,035 fi'/s11/s
.. 951,019 gal(USA)/h

- 791,892 gal(UK)/h1 m3/h

- 4,403 gal(USA)/min
- 0,589 ft'/min1 in

- 25,4 mm
1fi

- 0,305 m

1 fiH,O

- 6,235 gal(UK)

= 28,312 I= 0,028 m'- 62,35 Ibf11bf/in2

= 2,312 fi H O

= 2 035 in Hn= O 705 mea= 6894 N/m'= O 070 kaf/em'= O 069 bar= O 068 atm1 aalIUK)
= 0,160 fi'

= 10 Ibf= 4,5461- 0,005 m'- 1,201 aal USA)1 qal(USA)/min

- 227,1241/h
- 0,227 m'/h- 0,134 fP/min1 qal(UK)/min

- 272,76511h
- 0,272 m'/h- 0,160 fi'/min1 ft3/s

- 28,31611s

= 448,830 gal(USA)/min= 373,730 gal(UK)/min11bf
- 4,405 N

1 HP
- 0,746 KW

1 kgf

- 9,807 N
1KW

= 1,340 HP
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